HE TS P EEH4
1 s ﬁ()ﬁ)é% ZAb (28 K U
2 g&i éﬁﬁ;ff/\% (% éj;% %hmggx{ﬁ I & #HIE
= Bk N SE % 5
3 ﬁ%i AOHES i %0 5
> zié §§ﬁ§§ e 50 2
6 Bl K HE mmmﬁél EimT 50 0
2 Ll i B Bl K HE 50 2
! wﬁg ﬁﬁﬂﬁé% i 50 2
> o j;%ﬁé% X175 75 50 2
= e E%ﬁé% T 5% 50 2
= L PRI T SR 50 2
- T ﬂzﬁéé' ENEE: 50 2
L e ﬁiﬁé% e 50 2
= T B 275 50 2
- Ee é%ﬁé% 5K 7K P 50 2
= s RS X755 50 2
2 éﬁ% gﬁﬁéﬁ' RFEYL 50 50
- i ﬁiﬂﬁéﬁ SRR 50 2
L é%ﬁ E%Dﬁé% RiE= 50 2
- e Eﬁmﬁéf EdEh 50 %
= o %$%ﬁ§f B 50 2
22 Sk ﬁmmﬁéi i 20 0
23 T T %0 0
= Lol f MR 2 PRSI 50 2
2 @g@ TN TS 2R 50 >
= %i@ ‘@fﬁéé' BRAE T 50 2
= e %%Dﬁé% oAdE 50 2
- L éx%ﬁé% REHR 50 2
= e i@;ﬁé% T 50 2
> e ?%%ﬁé% KL 50 2
31 BEE %Iriuﬁgféf — % :
32 T ik %ﬁﬂgéi o 20 “
= fo i B4 Ui 50 2
= e ﬁmmﬁé% o 50 2
i e MLl A S ErdsY) 50 2
= e ﬁ%@ﬁé% A 50 2
= %%y %ﬁ%ﬁé% FREIR 50 2
- e B R 50 2
= A ﬁgﬁéf HF5E 50 2
40 7] s o 20 %
SRAELE %%D*z; = %0
= Zit 4 LI Z 2 Fiwii s 50 50
22 g ﬁf%ﬁé% =41 50 5
= %E% B ONZS B 50 2
= e HIOH%ES HERE 50 50
= T :ﬁgﬁéi‘ YLE2 50 2
> e %%:ﬁéi It it 50 2
- ot y%ﬁgiz YL 50 %
49 e I L
40 ;gg@ SRR £ §§£ 25 25
= = éﬁﬁﬁéix TRRE 50 2
2 AT ,‘Dﬁéz AR 50 2
= %%Q X%Héf 5k 2% Bt 50 2
Fe T 50 %




55 Tridk X 1B A& S Tt X 50 50
56 IREETS WXL IREETS 50 50
57 T JERMES RSt 50 50
58 B BWENZES B 50 50
59 REY NS REY 50 50
60 igeiEe JERMZ YLER 100 100
61 P B TS L et 100 100
62 B HRMNES 751k 100 100
63 FilktE BEMNES L 100 100
64 EEE BWENES 0750 100 100




